ANV S w1 S O N = W 1| VS I

o
% N) (Hf7 - TF)
8 M IERT D& o # t
N & 894,990 690 895,680
a4 1 37,310 37,311
% & &t 5,838,460 38,000 5,876,460




(B 2 FM1)
MoE  # MW W

8 HIERT %A OE & G Fr E 1%} Ui .
EH R X H 4 e O N ] e
W% 173,020 540 173,560 540
HuI S 83,899 369 84,268 369
w4 1,026 37,091 38,117 37,091

m & 5,838,460 38,000 5,876,460
o

38,000




~

2 m A
L) 7

) N
) 1 —REFERAE

o 895,680 M
{7:\

K I H

1 HHIERT O %R HoOE %8 5
N 894,990 690 895,680
1 —EaFEAE 894,989 690 895,679
4 DOt AE 183,828 690 184,518
8 M B & 37,311 TH
(TH) 1 R 4
K TH H FHIERTO%HE MOIE §
B 4 1 37,310 37,311
Mo 4 1 37,310 37,311
1 B 4 1 37,310 37,311
K TH H FHIERTO%HE MOIE §
AN A& G 5,838,460 38,000 5,876,460

(HEAT « TH)
B A
X
2 FHERANE RS TR A . 540
(LR BRT)
3 FHEBHEAL b AN s ¢ N 150
(WENWEEH)
(BA7 - T
& B
X 4
PR JEE it 4 37,310
(U rERpRAR)
(BA7 - TH)
& B
X JAN N

(IR 5T




€9 1 % % % 173,560 TH
(18) 1 HREEHE
M OIE B oo B OJHE N R
# W H fIERTORE | # 1 &t ¥ooE MR ]
— W AR
= B 4 HoJ7 & Z D
1 BB % 173,020 540 173,560 540
1 REE IR 89,675 540 90,215 540
1 —fREEE 88,961 540 89,501 540
540
(F) 3 MuScmRe 84,268 T
(18) 1 HETEIEER
M OIE B oo B OJH N R
& | H WIERIORE | M FE 4 & ¥oOoE M R .
— e AR
= R 32 4 o7 g Z O
3 kiR 83,899 369 84,268 369
B¢
1 ETEE 21,883 184 22,067 184
B¢
2 —IRTEHE 19,822 184 20,006 184
ES
184
2 EFERYSCEE 62,016 185 62,201 185
¥ - EE
HEE
2 MEFHE 15,502 35 15,537 35
B¢
35
5 LEFEYE 26,142 150 26,292 150
150
(I RERBREERI T 5

(HEAT « TH)
i
B |
X 4y &  #
1 #H ] 70 | 8002 — X EBRICE T DR E 540
8 % E #H AT0 (Uit rpat)
13 & Ft B 540 | 1 AN 70
Mg E Y — v EE R B AT B WM 70
{5%“% AT0
ZERES AT0
G 540
ﬁ\ LR T BE o (51 FR B i 2R R R 540
(BA7 - TH)
i
B |
X 4y & M
19 AMEHB K O A4 184 | 8042 — R FPBIHEICE T DR 184
(WWEWEREHIR)
19 A& O 4 184
S Yo o FEB A 184
1 T 35 | 8044 MAFER XIEFHEICET HRE 35
(WEWEEHR
1 R B 35
HIRELFE SR & v & —EE Wik a2 B 35
8 W E & 50 | 8047 (EEFHEIZE T DR 150
1n#H M % 80 (WEWEEHR)
14 R OVE TSR 20| 8 HMEE 50
FEEm R4 50
11 T 80
IS A 2y 80
14 BEAVER R OVEAE A 20
TR %R EF*HJ( 20

_7_




€9 5 FEkH4 38,117 TH
(1) 1 BB K ONEMIING 4 (B - FH)
M OIE B oo B OJHE N R i
#* I B fIERTORE | # 1 i ¥ooE MR ] B |
— B X 4y &  #
= B 4 5 Z Dt
Fh X 4 1,026 37,091 38,117 37,091
1 HEEKEW 1,025 37,001 38,116 37,001
wAINE 4
2 18 & 4 3 37,091 37,094 37,091
30,508 23 fEIZF1 K OVE5 [k 37,091 | 8037 KiE4: 30,508
(U rERpRER)
23 fEIEER] 1 K OVE5 E 30,508
EiEE () 19,059
R4 () 9,476
LGRS (ZOfh) 1,973
6,583 8052 iFE4: 6,583
(WEWVWEREHIR)
23 fEIEAR) T K OVE|5 Dk 6,583
R ([E) 4,165
R4 () 2,083
WigELE (Ffth) 335
(Hf7 - TH)
M OIE B oo B O N R i
% T H WIERIORE | M FE 4 & ¥oOoE M R . B |
— e AR X 9 & A
] S 4 o5 fE Z O i
WA F 5,838,460 38,000 5,876,460 38,000
(I RERBREERI T



1 Rkl

e HIR T4 . fs
IZ I\ Hﬁg‘dﬁ é&@” ;’f\L\*/I' (FH) fﬂfﬂﬁ %ﬁ%/’%fﬂ %O)ﬂ'ﬂ = N {ﬁ /E'\ajr {ﬁ%
7 FY | 7Y [oFy]| T

N
\
A

IR
w|  aml Em| aw| Em| Em| Em| am| @ e

i

\
/

MR %

Som | sl 105 105 105

3t 30| 105 105 105

bl
kS

%
i

MHIERT

DD
e e

i

53

4

@f&
il

Heig

Som L sl 105 105 105

G 30 105 105 105

(It ORBR I 5T) —10—




